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DIFFERENZA DI QUOTA

ANDAMENTO PLANIMETRICO
188.254mL = 558.567mL = 105.858mL = 318.237mL = 207.789mL = 176.253mL = 262.388mL = 870.729mL = 298.431mL = 89.119mL = 63.543mL = 

2500.000mR = 1591.000mR = 1200.000mR = 2000.000mR = 1580.000mR = 1050.000mR = 1496.000mR = 2800.000mR = 50.000mLtr = 30.000mLtr = 30.000mLtr = 50.000mLtr = 20.000mLtr = 70.000mLtr = 70.000mLtr = 100.000mLtr = 50.000mLtr = 50.000mLtr = 

50.000mLtr = 

CANT [mm]

0 60 90 120 70 90 140 100 0 50 0

VELOCITA' [km/h] 140 140 140 140 140 140 140 140 140 140 140

RI01b VI01b RI02b VI02b RI15b TR01b RI03b TR02b TR20 GA02

MU01 MU02 MU03 MU05
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PROVINCIA COSENZA
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Castiglione Cosentino
Innesto su

Bivio Settimo - Bivio S.Antonello
Bretella

verso S. Lucido
Diramazioni
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